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OLPGE | AtSItE AIEHE AL 11,250
= 5,625
Al 5,625
AEFAANS HIISHH GIZAIE HEAS 3,320 0 3,320
== 9%
Al 2,324
401 AIEHIZ R 0HYI 3,320 0 3,320
< 9%
Al 2,324
01 Al&H| 3,320 0 3,320
OUEHFHAXAS SIS HTAIE HEAIS 3,320
= 9%
Al 2,324
AY2IFHI(LEZH) 60,990 63,090 A2,100
J1I=28Hl 60,990 63,090 A2,100
Jl=2&H] 60,990 63,090 A2,100
201 er23 | 38,190 37,950 240
01 At22t2lt] 30,180 33,750 /3,600
ORNE2E MFRES 7Y 4,000
OnES JlE==2H] 2,000
OSAEI € ZBH EH 7Y 5,750
—SAMEX 25,0003 #1502 A 3,750
-ZelE &Y 200,000& = 107K 2,000
OsgJl Sz (5U+2EA)
450,000 12& 5,400
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